
This risk might relate to fluctuations in the price of oil, a foreign





Shareholders are usually well diversified and can make their own

copper, a well-diversified shareholder may hold shares in a copper

of the goods and services produced by the industry fluctuate to
reflect raw material costs, interest rates, exchange rates, and so on.

A company that does not hedge can expect its profit margins to be

However, a company that does hedge can expect its profit margins to
fluctuate!



on the underlying can be difficult.



The company finds that it is ready to purchase the crude oil on



The first example considers a

In the first example the computed effective price is the price that the

in a hedging situation is defined as the spot price of





Define:

the coefficient of correlation between

The first-order condition writes as

, satisfies

is defined as a positive number (absolute value),



hedging, define:



companies, and 40 financial institutions).

Stock index futures can be used to hedge a well-diversified equity

Define:



best-fit line obtained when excess return on the portfolio over the



is in fact the slope of the best-fit line when

) is the slope of the best-fit line when the return from the



Under what circumstances will it be profitable?

It will be profitable if the stock underperforms the market in that its



Initially it enters into (“stacks”) sufficient contracts to cover its



This is due to a mismatch between the timing of the cash flows on
hedge and the timing of the cash flows from the position being

fixed-price supply contracts to its customers at 6 to 8 cents above

positions. Considerable short-term cash flow pressures were placed

well-diversified portfolios, can eliminate many of the risks faced by a

On a practical level, a company may find that it is increasing rather



The optimal hedge ratio is the slope of the best-fit line obtained when

When the first futures contract is near expiration, it is closed out and the


